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@Y1 I Wy f{\’m &) &"“{ I a2 ,&
(A) readling( )

(©) IR A} B) read () g
Which function returns the strings ? (D) f{?{
(A)  readiine( ) :
) Both of the above ~ (B read) ’
(D) None of the above
R TS Bl ageye
Integer a, b, ¢ Wm STEl ", XOR G{Wﬁm%?
Set b= 4 a= 3
C=3gA b
Print ¢
W4 ® 3 ©s5 O 7
What will be the output of the following pseudocode where A represent XOR operatlon (
Integer a, b, ¢
Set b= 4, a=3
C=a’b
Print ¢ .
(A) 4 (B 3 © s o |lu 7
W@aﬁ%mﬁawﬁwwmm%o
(A) ab B) rw: (C) a+ D) r+
Which of the followmg is not a correct mode to open a file?
N e (B) rw - (©) a+ (D)
IR s § R st e @i 2 | SAMPARK COMPUTERS
def fun(a,b): Udyan Plaza, Near Saheed Path
for x in range(a,b+1): Raibareli Road Uterathia
if X%3=20- : Lucknow-226025
o—_.' ‘ m www.samparkcomputers.com
print(x, end="") Mob. 9839077664/ 9839077664
fun(100,120) ' . .
(A) 7 (B) 8 (C) 6 (D) 9
How many numbers will be printed by the folIowmg code ?
def fun(a,b): -
for x in range(a,b+1): - -
i X%3==0:
print(x, end="")
fun(100,120) -
(A) 7 & (B) 8 C) 6 D) 9
Page 2/22
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SAMPARK COMPUTERS
Udyan Plaza, Near Saheed Path
Raibareli Road, Uterathia

SR e Lucknow-226025
’ _ Y www.samparkcomputers.com
< 1% IS T *‘"‘r:{e Mob. 9839077664/ 9839077664
by N2B 3 "C')
a. 0", &: "E")
pr:]pdate(b) , R .D, £ .Ec}
(Am(a) @ (1A 28,30 4T
| (C) {1: .A.‘ 2: |B|. 3: |C‘} : (D) (4: 'D', 5: 'E'}
) Error cOde ?
Wk W' ng

atis 1 output of the foll®

~{1:vr 9 g, 3:"C')
b < A2

01 5.°)
3.Updaep N
P ) J/B) (1A, 2. 8, 3:°C, 4:'D’, 5: E)
Egi (1A, 2:°8,3:C (D) (4:'D,5E}
Error ‘
6. - oo Y ERT o
ﬁ'ﬂﬁ@aﬁ??ﬁ??ﬁ , (B) el ATad
R wfFdmeE ) ok § P Tl
(C) BR-qad db computer ?
derstoo y comp
Which of the following languag® o (B) Assembly language
EA) & Machine languag® (D) None of the above

(C)  High-level languag®

7. PR o T ASCHE FNET 2
a=0
b=3
whilea+b<8:
a+=1 s, |
rint(a, end=" . .
?A) (0123: (B 123456  (C) 12345 (D) T IDIT el
What will be the output after the following statements? . :
a=0
b=3
whilea+b <8:
a+=1
print(a, end=") e
(A 01234 (B 123456  [C) 12345 |  BY Noneof these

-

. Page 3/22" . . 7 : , ' M3-R5/52/08-22
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g PTRRE BT %) g |
V1 ST g SAMPARK COMPUTERS

def disp(*arg); Udyan Plaza, Near Saheed Path
_ \ ' Raibareli Road, Uterathia
foriinarg: " Lucknow-226025
www.samparkcomputers.com
print() . Mob. 9839077664/ 9839077664

diSp(name-_-"Raja n

\ ) age=“2()")
(A)  TypeError

(B) Rajat 20
(0) FTHAPKTE!

?

e .
hatis the Output of the following code
def d‘\sp(‘arg):

for iin arg;
print(l)
d\sp(name:"Ra]a ", age="20")

(A)  TypeError| - }B{ Rajat 20
(C) Nameage (D) None of these

O T R Mo o e ) TR ot e oA e e §1

(A FTHR B) wieH

(C) FURHR (D) SRfeT Rien

A computer progra;nme that manages and co'ntrols a computer's aétii/ity :
(A) Interpreter (B) Modem

(C) Compiler : _(E/) Operating system

10, TR 3 O Wl e 3w €7 |

(A) list=() (B) list.null (C) nulllist (D) list=[ ]
How can we create an empty list in Python ? e I
(A list=() (B) listnull (C) nullist ) [ist=(]
Page 4/22 f | M3-R5/S2/ 08-22 '

_a

Scanned with Camd$canner



S e

" P gt 5 e araege T

X = 2
x<s:
7 Dfim(x)
-+ Pasg
(A) 234 (B):
What will be the output after the following statoments?

1234 (C) . 2 (D) =H q s L

X=2
if X < 5
Print(x)I.
else:
pass |
(A) 234 ,(4) 1234 F(C) 2 (D)  None of these
12, areerd g 3 ST VIR & Ry ST fapdT S A GaeE
(A) write (B) output - (C) send » (D) dump
A function used for writing data in the binary format : ’
(A) write ' .(B) output (C) send (Bf dump
12 < 3 e o e AR 8 e AT % e Rl A R 87
(A fou | | @ '
©) RPRIEERSEId@e (D) SR A DE T |
Which part of the memory does the éystem store the parameter and local variables of a
function call ? | '
(A) heap , (B) . stack
\}Z‘)’ Uninitialized data segrﬁent (D) None of the above
, Page 5/ SAuPARK COMPUTERS M3-R5/52 / 08-22

Udyan Plaza, Near Saheed Path
Raibareli:Road, Uterathia

. Lucknow-226025
www.samparkcomputers.com
Mob. 9839077664/ 9839077664
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14, Ffefea &1 srgeqe @ g

def iq(a,b):
lf( ==0)I
return b
_else:
return ig(a-1,a+b)
print(iq(3,6)) :
(A) 9 (B) 10 C) 11 (D) 12
What will be the output of the following ?
defiq(a,b):
lf( ==0):
return b,
else:
return iq(a-1,a+b) ¥
print(iq(3,6))
(A) 9 (B) 10 40) 11 - .0 12
15, =i faT U v 1 Sfrgeye T 87 - o
def maximum(x, y): SAMPARK COMPUTERS
ifx>y: Udyan Plaza, Near Saheed Path
return x ‘ Raibareli Road, Uterathia
elif x==y: Lucknow-226025
return "The numbers are equal www.samparkcomputers.com
else: Mob. 9839077664/ 9839077664
returny
print(maximum(2, 3)) .
| (A) 2 B) 3 , :
E (C) The numbers are equal (D) Sff@d # 4 oI5 el

What is the output of below program ?
def maximum(x, y): '
if X > y:
return x
elif x==1y: :
return 'The numbers are equal’
else: B
return y o
rint(maximum(2,
). 2 | ng 3

(C) The numbers are equal (D) None of the Voptions
16. 3o O T e 3RO X9 & R S W YA 98 8

(A) from package import all - (B) from package import *
(C) - from package include all (D) from package include *

Which statement is correct to import all modules from the package ?

,(f() from package import all - |4(B) from package import *
(C) from package include all . (D) = from package include *

Page 6/22 , _ M3-R5/52 / 08-22
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SAMPARK COMPUTERS
Udyan Plaza, Near Saheed Path

1T ﬁw Raibareli Road, Uterathia
BT STITYE 1 g 2 Lucknow-226025
Port |, www.samparkcomputers.com
N umpy as np Mob. 9839077664/ 9839077664
b array([2,3, 4, 5]) ,
~Mp.g 4
Dnnt(a g)ange( )
(""h R345] @ (3459 ©) [1234] (D) [2468]
impg 3 Wil be the output of the following ? ‘
P "t numpy as np
"P.array( [2, 3, 4, 5] )
= MP.arange
prlnt(a+b) (4)
A 2aqs ® 3456l © 0234 L40) [2asy
18. |
ﬁm’%’@aaﬂ 3Ieqe T gN?
Impory Numpy as np
Print(np. maximum(2, 3, 41, [1. 5 2)))
(A) (159 (B) [154] (C) [234] (D) [254]
What wi be the output of the foIIowmg ?
'mport numpy as np
Print(np., maximum([2, 3, 4], [1, 5, 2]))
(A) 152 B) [54 (O [234  [(D) /1254
19, Fufafeq o1 sreege @ d?
print(int())
(A) @I Ul ger (B) 1
(C) o (D) Error
What is the output of the followmg ?
print(int()) . ‘o
(A) - Any random number B 1
JQ)’ 0 | <(D) Error
20. ﬁaﬁf@aﬁ#m%awﬁ g@%;zaﬂsznaﬁ&mﬁaa%v
(A foe 3% @B R
(C) ¥ ' (D) Buﬁaaﬁ%ﬁé%"r
Il Which of the following data type, duplicate items are not allowed ?
-~ (A)  list (B) dictionary
+(C). set s @/ None of the above.
Page 7/22 L | ,  M3-R5/S2/08-22
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21, iR @ w1 angeye am @ ¢
print ((2, 4) + (1, 5))

(A (2,4),(4.5 (B (3,9) © (@415 (D) InvaidSynay
What is the output of the following statement ?

print ((2, 4) + (1, 5)) - \ | 2 ;
(A) (2,4),(4,5) (B) (3,9) XC{ (2,415 WD) '."Vﬂllfl Synt.ax

22. fAufled ®1s o1 sraeye s g
import numpy as np
a = np.array([[1,2,3],[0,1,4],[11,22 33]])
rint (a.size , , _
:’A) (1 ) (B) .3 N (o) - (D) 4
What will be output for the following code ? '
import numpy as np ‘

= np.array([[1,2,3],[0,1,4],[11,22,33]])
print (a.size)

(A) 1 ‘;4.3(3 | |40 9| (D) 4

23. Praffre & @ i 4 dRuee fRaRem o 2 2

(A) a_=3" (B) _a=3. ~ (C) a?=3 (D) mﬁ
Which of the following variable declaration is inccyect ? 3
A(A) a_=3 (B) _a=3 JAC) a?=3 (D) Allof these
24, __ﬁeqqaﬂ‘s'@maﬁgwmmﬁm%l ,
’ (A) break (B) pass - (C) continue (D) mﬁmqﬁﬁ
4 immediately terminates the current loop iteration. ' ‘
-~ (A)  break . (B) pass (C) 'con'tin‘ue "..J(l{ None of these
25. D 91 oA ol sfHec AaTg 7 -
(A) dump() (B) laod() -
() S A , - (D) SWFA Y FE TR
Which of the function takes two arguments ? : :
(A)/ dump() ~ (B) laod() -
| Jfé)' Both of the above (D) None of the above
Page 8/22
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PN g ) afhran o 88

(A) 18 B) 32

© g (D) - SO 7D i il
Wha the maximum possible om0 ofan qugllllor !

LA VRN B)" 82

(€) g4 (D) Nono of these above

21 YRRy 10t iy T @ T P e 7

A dyger (B) eRe ©) wemgR (D) ghRde
Which of the following executes the programming code line by line?
«A) Compiler (B) Interpreter (C) Executer (D) Translator

2. SiSTge 2
What is the output ?
def Cale(x):
r=2°x**2
return r
Print(calc(s)) T '

Error (B) 50 (C)- 100 (D) 20

20. Ffifed sreamficawas 2.
X = 'mohan’
foriin range(len(x)):
X[i].upper()
print (x)
(A) mohan (B) MOHMAN . (C) Emor (O) THIPE T
What does the following code print? | ‘
X = 'mohan’ i

for i in range(len(x)):

x[i].upper()
print (x) _ _ | .
(A) mohan |  (B) MOHAN - (C) Error G(B)/None of these*
Page 9/22 e ‘ ? M3-R5/52/ 08-22

Scanned with CamScanner



A
- 4
‘ : — G e G
30, VRN s werd N xeVora) su as fony s Ry a1 9T (D) By
(A SlsrasR (B) g © M lowchart 7
What is the symbol used to reprosent staphgnd stop ofallo (D) diamon,
(A oval (B)  roctangle (C) arow /
3. FukiRa @18 @1 smege w2
ms = (A", 'D', "H','U', 'N', I, 'C")
print(ms[1:4]) e i
(A (D, H, ) @ (w, D ali’r e
(C) (‘D', .H', ’U'. 'N', 'l', -Cq) (D) gqﬂaﬁ
What is the output of the following code ?
n.\s - (OA)‘ IDl' IHI’ lUl‘ INl' ll|' 'ICU)
print(ms[1:4]) ‘ Vo e
4 (D H, U) ©(B) (AD,H,ULNLTC)
(C) (an' rHu' -U" an’ |l|' 'C') (D) None of these

32. w dftuad @) PRk 3 e ) eI Il & g
(A) dftgad () R (C) SMEERBER = (D) T

Raw data assigned to a variable is called as

(A) variable {B) literal _/6) identifier - (D)  comment
33, Fafofad $re @ fife o | SAMPARK COMPUTERS
if2 +5==8: : Udyan Plaza, Near Saheed Path
e Raibareli Road, Uterathia
print("TRUE") - Lucknow-226025
else: www.samparkcomputers.com
print("FALSE") v Mob. 983'9077664/ 9839077664
print("TRUE")
(A)  TRUE (B) TRUE FALSE
(C)  TRUE TRUE (D)  FALSE TRUE
What does the following code print ?
if 2+5== 8:
print("TRUE")
else:
print("FALSE")
print("TRUE") .
4A) TRUE |ﬁ3), TRUE FALSE |
(C) TRUE TRUE - (D) FALSE TRUE

Page :10 e A VX
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34, TN @l ey it Tl faan i e 81

A @B () R (C) it (D) v
Algorithms cannot be represented by ’
8y pseudo codes _pr) syntax (C) flowcharts  [F(D) programs
35, T @ T T QR T © 7
(A) o WY B) TS (C) NS o) e
Which one is not the attribyte of @ file? |
&(A) soﬂspace /{{)U mode @ (C) closed (D) rename
36 T S @ Tat 3 R Fre G b1 SN R ST 52
(A)  readall( - (B read)
(C) readcharacters() (D) readchar()
Which function is used to read all the characters?
(A) feadalll) | (B) read()
) readcharacters() (D) readchar()v
RoRifad $ie &1 HScye F1 8 2 SAMPARK COMPUTERS
37 3 ' : Udyan Plaza, Near Saheed Path
X =50 : *~  Raibareli Road, Uterathia
88 - Lucknow-226025 '
def func (x) : www.samparkcomputers.com
X=2 ’ Mob. 9839077664/ 9839077664
func (x)
print ('x is NOW, x) | |
(A) xis now 50 B) xisnow2 - (C) xisnow100 (D) Eror
What is the output of the following code ? :
X = 50
~ def func (x) :
X=2
func (x)

print (' is now’, x) |
(A) xis now 50 (8) xismow2  (C) xisnow 100 Error

Page 11/: 22
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38 Pl ®Ye @1 sirgeye q gy

. SAMPARK COMPUTERS

f-open("demo. txt", "w..")  Udyan Plaza,(lj\leuatr Sé:ﬂ%ed Path
ite("We " . Raibareli Road, Uterathi

f.\ws(e(q'\)Nelcomo to Python") % Lucknow-226l?25 -
f.seek(s ~ www.samparkcomputers.
a=f.read(5) Maob. 9839077664/ 9839077664
ptint(a) . |
(A)  Welco (B) meto
(C)  Welcome to Python (D) eto

What will be the output of the following code ?
f=open("demo.txt","w+")
f.write("Welcome to Python")

f.seek(5)

a=f.read(5)

print(a)

(A)  Welco | ® meto |
—AC)  Welcome to Python B (D) eto

39, wﬁ@ﬁmﬁwma@aﬁﬂm - feremE

A) A B WRma () Rm@ (D). U
Operaﬁons to be repeafed a certain number of times are done by 5 _
(A) Selection (B) Sequential (C) ' Simple  |MD)  Loop

40.  Istrip() A4S B 3T ¥ R grar
A) Wi el P Rde sy
(B) Wﬁ%ﬂaﬁmaﬁ%ﬁem
(C) - Tt it SR 2T ke o Relte ey

). ARG ey feefie 773 ¥ forg
Istrip() method is used for :

(A)  delete all the trailing characters

(B) delete all the leading ‘char‘ac'ters 4

(C) delete all the leading and trailing characters /

_: (D) delete upper case characters '

e —

. Page 12/22 » | ¥ i MB3-R5/52/ 08-22
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SAMPARK COMPUTERS

SaafN PRI i ? Udyan Plaza, Near Saheed Path
a1. ﬁa{e\f@“ U] I MIETYC aan @ Raibareli Road, Uterathia
M1 1in ranae(1.6): Lucknow-226025
ange(1,6): www.samparkcomputers.com
Pring(, ends") Mob. 9839077664/ 9839077664
if | we 3:
break
LY B) 128 €) 1234 D) 12345

What Will be the output after the (ollowing statements?
for i in range(1,6):

Print(i, end=")

ifi==3:

break ' :

42 PR v a1 orgege @ A 2

X=4

_Print(x<<2) .

(A) 4 | B 16 G 6
What will be the output of the following expression ?
X=4

print(x<€2)

N (B) 16 | © 6

43, Ffifed ®is &1 Reqe 1 grm 2
f=open("démo.txt",';r")

print(f.tell()) .

(A) 1 (B) 2 : (C) 1.

What will be the output of the following code ?
f=open("demo.txt","r") @

~print(f.tell()) : :

w1 @ 2 | (C) +1

<

D) 12 345
D) 2
D) 2

Page 13/22
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ll a4, PRI A A o Afrs 3R 7l 87 23 D) 123

\ (A)  student B) si12 (C)

" Which of the following lsan)g a valid identifier? 1 0) 123
(A) student A s12 (C)

45. Wﬁmmawmﬂﬁmmﬁ@ﬂﬁ@ﬁmmmm%m%?

(A) ¥ B) WRITwE (© W ®) STg
i Which of the following symbol is used for input and ?utput operations In a flo[V; chart ?
\ (K) Reclangle | igj Parallelogram 2}}7 C;raﬂde (D) Diamond
46, FofRed $rs P AFeye T8I 2
def add(a, b): -
return a+5, b+5
result = add(3, 2)
print(result)
(A) 15 (B) 8 (C) (8,7) (D)  Error
What is the output of the following code ?
def add(a, b):
return a+5, b+5
result = add(3, 2) ‘ :
print(result) S /
(A) 15 (B 8 Jef 67| (D)  Error
47. HFTINT g=[3, 4,5, 20, 5, 25, 1, 3], @ q.pop(1) & TG q ferve & MTEeH FT TN 2

(A) [3,4,5,20,5,25,1, 3] (B) [1,3,3,4,5,5,20,25]
(C) [3,5,20,5, 25,1, 3] _ (D) [1,3,4,5, 20,5, 25]
Assume g=[3, 4, 5, 20, 5, 25, 1, 3], then what will be the items of q list after q.pop(1) ?
(A) [3,4,5,20,5,25,1, 3] AB) [1,8,3,4,5,5, 20, 25]
(C) [3,5,20,5,25,1, 3] (D) [1,8,4,5,20,5,25]

48. >>>float('12.6') BT 3TIYC AT &

(A) 12,6 B 126 (€ 12 - (D) syntax error

What is the output of >>>float('12.6") | &t

(A) 126 | ~  (B). 126 (C) 12 ~ syntax error
Page 14/22 _ 'M3-R5/52/08-22
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49, My p
chn L I ol

(A) SAMPARK COMPUTERS

i W U o1 R | Udyan Plaza, Near Saheed Path
O T Raibareli Road, Uterathia
)W e Ja Lucknow-226025

(

(©) R B W ¥ Ryg RARTA P WARUT BTN www.samparkcomputers.com
Mob. 77664 77664

(D) mﬁ!‘!aﬁs‘qﬂ ob. 9839077664/ 983907766

TeStlng is known as :

(A) A stage of all projects

(8) Finding broken code
J‘Ef) Evaluating deliverable to find €1ors ]

(D) None of the above

T v e o @ R e
(A)  JgaR iy (B) ST wlerur 3 fEafify
©) T HReT © i
FloWChart and algorithms are used for -
(A)  Better programming (B) easy testmg and debugging
(C)  Efficient Coding (Dy Al

51, e qeiers o1 srsege @ 2

Integer a, b

Seta=9,b=5

a=amod(a-3)

b=bmod(b-3) :

Printa + b ,

(A) 4 B 5 - (© o9 .. (D) 8

What will be the output of the followmg pseudocode ?

Integer a, b - : : SAMPARK COMPUTERS
Seta=9,b=5 i Udyan Plaza, Near Saheed Path
_ . Raibareli Road, Uterathia
8.5 aimotifeg), = ‘ ' Lucknow-226025
b=bmod((b-3) V. : www.samparkcomputers.com
. Mob. 9839077664/ 9839077664.
Printa+b . 5 .
|(A) 4 - (B) 5 4(C) 9 . ﬁ.’m 8
Page 15/22 - M3-R5/52/08-22
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52, Fufdfda vham o 1ITYe a1 @ 7

What is the output of below program ?

SAMPARK COMPUTERS h
def say(message, times = 1): ‘Udyan Plaza, Near Sah_eed Pa
. i g Raibareli Road, Uterathia

A iestags e LUCknOW_226I?c205mputérs.com
say(v:::f :;'O) | Mob, 9830077664/ 9839077664
A Hello ' J

WorldWorldWorldWorlgworl
(8) . Hello

orld 5
VUZ/:ljello :

World,World,WorId,World,World

(D)  Hello

HeIloHeIloHelloHelloHelIo

53. ﬁmﬁawmmmwm?
from math import pow
print(math.pow(2,3))

(A) Nothing is printeqd
(B) 8 '

{C) " Error, method pow doesn't exist in math module
(D)  Error, the statement should be: print(pow(2, 3))

What will be the output of the following Python code?
from math import pow:-

print(math.pow(2,3)) :
(A)  Nothing is printed
(B) 8

(C) Error, method pow doesn’t
(O] 7 Erro

exist : e o
r, the statement should be: print(pow(2, 3))

(D) rand
ed for using randint( ) function 2 :

: (B) randrange - (®)) randbrhrange \Jl{) " rand
Page 16/22 | :
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ss.  MuafiRg grqus dmw @ mj{iﬂlﬁw ;

def addlten(jistParam):
listParam 4= [1)

mylist = (1, 2,3, 4]

add“emuann

Print(len (myjist)) .

A 5 . (B) 8.

What will g the output of the fo|1owmg Python p'°9fam ?

def addltem(hstParam)
llstparam +=[1]
mylist < 1, 23, 4]
aqdltem(mylist)
Print(len(myiist))

‘EA) 5 = (3) 8

56. ﬁ%@'ﬂﬁ@ww@?ﬂ?

7.

import numpy as np

a = np.array([1,5,4,7,8))

a=a+1

print(a[1]) :

A 4 ® 5

What will be the output of the followiﬁg?
Import numpy as np

a=np.array([1,5,4,7,8])

a=a+1 :
print(@1) .
A 4 B s

fFafefed ois 1 sege g 2

What is the outpu't of the following code?
dict={"Joey":1,"Rachel":2}
dict.update({"Phoebe":2})

print(dict)

(M) {'Joey":1, Rachel"2,"Phoebe"2)|

(C) {'Joey":1,"Phoebe":2}

‘Page 17/22

(C) 2 (D) 1
(C) 6 (D) 7
(C) 6 D) 7

{"Joey":1,"Rachel":2}
Error

M3-R5/52/ 08-22
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58, U RGN S 3 g ) e o ¢

D) ¥
N T ® o c) CIRESE
A detailed flowchart is known as : ,
LA Micro (B) Union- 2 (G Macro (D) Stack
59. Ffefed @ Pis @ a{mgzmam ? :
Integer a .. SAMPARK COMPUTERS
. " Udyan Plaza, Near Saheed Path
Seta=4 RO .~ Raibareli Road, Uterathia
do - ‘ ' - Lucknow- 226025 . _
. N Sl www.samparkcomputers.com
_printa+2 oy : :Moh:"9839077664/ 9839077664
a=a-1 “
while (a not equals 0) aqs TGE
end while '
(A) 6666 (B) 6543 - (C) 6789 (D) 681012
What will be the output of the following pseudo -code ?
Integer a
- Seta=4 S
do X oA ] |
printa+2 wWV EREE
a=a-1
while (a not equals 0)
end while | W : SR
(A) 6666 (B) 6543 (C) 6789 JD)/ 681012

o SO

60. TR e TR e 7 S il s e 5 R B A R R 2

() infleread(2) ~ (B) infile.read() -
(C) ' infile.readlines() - - (D) infile.readline() :
Which is the function to read_ the remammg lines of the file from a file object infile ?
(A) _ infile.read(2) RS gB) infile, read() -
. JQ’ infile. readhnes() (D) |nf||e readhne()
61, qﬁ?ﬁﬁu%arrwgmﬁmm%lmqﬁémm I i -
: @maﬂm% |
(W) anl-2] (B) " arf2] © a1l (D) any
Suppose a list with name arr, contains 5 elements.-You can get the 2nd element from the list
using : ‘(/ .
(A) arr[-2] ) arr[2] - (©) arf-1] (D) ar1] |

e o b & - M3-R5/52/08-22
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%wmmﬁmmwmmmm%?

W B) # i (C)/ D) 7
hlch symbol is used to write single line comment ?
) (B) # ©) / 0 2

>

6. mﬁ@ﬁqmww%ﬂmﬁ?
(A) et (B) tuple (C) String (D) 379 | VS 72

Which gne of the following is a mutable data type ?

(A) |(§ i
Set ) tuple | : (C)  String ~ (D) None of these

. T:"ST%HWMWWWW ?
b=3g

Print(a | )

Print(a > 1) o

(A) 100 (B) 102 (G 22 (D) 101
;th';t will be the output of the following expression ?
b=g

print(a | b)

Print(a >> 1) ) ,
100 (B) 102 (C) 22 1D 101

65. FoAIsmwasTd?

(A) eval | (B) nonlocal (C) assert (D) finally
.Which of the following is not a keyword ? :
(A) eyal {BY" nonlocal . (C) assert - (D) finally

66. ﬁaﬁ@awmﬁﬁmwmo
def funci():
return ‘mnp’,22 - - ,
w e B Red © f&m . 0 =
What is the return type of following function ? '
def func1():
return ‘mnp’,22

(A) List - (B) dictionary i \9/ string (D) ‘tuple

Page 19/22 | ‘ © T MBRS5/S2/08-22
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67. ﬁwﬁ@@'ﬁmﬂaﬁawng/sh FYREAE?
| (A) S Fge Russ el
| (B) aft
| (C) Wugd o () sffdd 2
Which of the following is the basic I/0 co tions in fle
(A)  Standard Input (B apuadardOUIPU

B
(C) Standard Errors iﬁil Al o_f,theii'.E

68. ﬁm@amm@mm?

import sys
Sys.stdout.write('Welcome\n' viord ok
-seoutwrite(Aln) -, - Udyan Plaza, Near Saheed Path
(A)  Welcome Raibareli Road, Uterathia
All Lucknow-226025
(B) Welcome Al | www.samparkcomputers.com

9839077664/ 9839077664
(C) Compilation Error Mob.

(D) Runtime Error

What will be the output of the foIIowung )

import sys

sys.stdout.write('Welcome\n')

sys.stdout.write('All\n')

(A)  Welcoms

- All

~{B) Welcome All.
(C) Compilation Error
(D) Runtime Error

) m@ammmmwm%v

X'=-5
while x < 10:
print(x, end=") ' PR
(A) TS (B) FTEAY
(C) TPEARC@ (D) Q’W,ﬂﬁqq
What value does the following expressuon evaluate to ?
X =5
-while x < 10:
-print(x, end=") - : ; ;
(A Closed loop g (B) One time loop
- |(C) Infinite loop + (D) Evergreen loop
Page 20/22
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70, TR R mmﬁﬁm@w%mﬁaﬂmﬁmm,

E\A)P Pym (B) .pymodule (C) .module () py

th LY s i , |

cod:_ On module is a file with the _——— file extension that contains valld Python
(.A) el (B) -Dym.odule (C) .module ,(D/), oy

iy Tﬁﬁaﬁ?mwmm@%? |
i\ll)—] d | (B) ar+ : (C) r+ (D) W
(A ‘ch of the following is an invalid mode 7

i (B) ar+ C) r+ X{) 2

72, PR e e e o e AT 8 2
p,;'"t(s"a'((a* 5)-9) 110) o
fN:]atv (B) 9.8 (G) 10 (D) 100
' alue does the following expression evaluate to ?

PNKS +8+ (3t 5).9) 110) G, 0 _

(A) 9.0 _/(B) 98 - (C) 10 (D) 10.0

73. BTSSRy g ¥ e g fvan o e R |

(A) 0S.rename(existing_name, new_name)
-(B)  fp.name = ‘new_name.txt’

(C) os.ren SAMPARK COMPUTERS

(D) ame(fp, ngw_name) : Udyan Plaza, Near Saheed Path
0S.set_name(existing_name, new_name) - Raibareli Road, Uterathia

The syntax used to rename a file - : Lucknow-226025

www.samparkcomputers.com

PA)  os.rename(existing_name, new_name) Mah - ORI T 7B 983907654

(B)  1p.name = 'new_name.txt’
(C) 0s.rename(fp, new_name)
(D) 0s.set_name(existing_name, new_néme)

74, UIOYF H U BhaRH &I 9 e gy
~ (A) def function function_néme(): :
(B) declare function function_name():
(C) def function_name():
" (D) declare function_name():
How is a function declared in Python ? -
(A) def function function_name():
(B) - _declare function function_name():
def function_name(): | -
(D) declare function_name():

Page 21/22 . M3-R5/52/ 08-22
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75, ) AN 3 7
(A) 3 o o g 0 angege, T
FIYR/3IFeye, fE¥iom, frefye (B AT e
© 0, 152/ argege, gy A
What are the three different types of a'gorith constructlons ?
) InpuOutput, Decision, Repagt g, Output, Process
(C)  Loop, InpuvOutput, Process g sequence, Selection, Repear]
76. wmﬁ,maﬁww%mﬁwﬁmmmm%v
A i ® iy o FEOEE O Wy,
n a flow chart, which of the following is used to test the condition o
() Terminal (B) Process (©) O ‘ o
7. ﬁ?ﬁ@aﬁsmfﬁzwm?
a=True
b = False ;
¢ = False : ( SAMPARK COMPUTERS
ifnotaorp:.- Udyan Plaza, Near Saheed Path
print(1) : Raibareli'Road, Uterathia
. Lucknow-226025
elif nota or not b and ¢:. www.samparkcomputers.com
print (2) Mob. 9839077664/ 9839077664
elif not a or b or not b and a ‘ '
print (3)
else:
print (4) A : 3
(A) 1 B 3 C) 2 . (D) 4
What will following code segment print ? 5
a=True
b = False
¢ = False
- ifnotaorb:
print(1)
elif not a or not b and c:
print (2)
elif not a or b or not b and a:
print (3)
else:
print (4) . -
(A) 1 B) 3 © 2. D) 4
Page 22/22 ‘ M3-R5/52/ 082
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78. ‘from . ItﬁpOﬁ ...... - giS il & AR A BV 1 35 9
) Rideg: nlegern 0 orfRREER T ©
(B) Ty o1 g i o ol g ¢ PRI @
(©)  ¥ui¥s Afee o1 R SO AISTT BT 41T 4 gy 3
(O)  Titeye H SRR i SMESTWIR & %0 3 e ey e 3
Which of the following is false about "from ... import ......." form of import?
(A)  The syntax is: from modulename import identifier
—B)  This form of import does not import anything

) |
(C)  The namespace of imported module bécomes part of importing module
(D)  The identifiers in module are accessed directly as: identifier

o mﬁaﬁw?ﬁwﬁﬂﬂmﬁmmﬁ%ﬁnuﬁmmﬁ

. EIS IR »

(A) TR ¥BrES hawr (B) TTESI Thavr

(C) faw 37 vhawr (D) SWidd

Function defined to achieve some task as per the programmer’s requirement is called a
(A)  user defined function (B) - library function i

(C) builtin functions 1(Bj  All of the above. .

80. U Ufshal &l Gairare § 3M1gd gRT dad fparSiargl

(A) 3T (B) 9 (C) WHiRdYgYd (D) IHHS
A process is expressed in a flowchartby - . ‘
{A) Rectangle 9}/ “Acircle (C) Parallelogram (D) A diamond

81. AU YR 1 S3eye &1 g 2

print (7//2) '
print (-7//2)
A) 33 (B) 4-4 (C) 3-4 (D) 33
What will be the output of the following expression ?
print (7//2) ‘

. print (-7//2) ,
(A) 3-8 (B) 4-4 (C) 34 D) 33

Page 23/22 ' ‘ M3-R5/52 08-22
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_ jW@;h tis the Purpose of zeros() function used in N{JmPY array ?

o To make a Matrix with all diagonal element 0\/
T

0 make a Matrix with fi ; S
To make a Marix w - qu SAMPARK COMPUTERS
a Matrix with al| element Udyan Plaza, Near Saheed Path
€ above ™ Raibareli Road, Uterathia
Lucknow-226025 -
' www.samparkcomputers.com
: ; : 4
8. Fefires v P ar amege qmramy. - Mob. 9839077664/ 983907766
from math import * :
floor(3.7) - _ R :
(A) 3 ) 4 T 30 O) THITE g

-What will be the output of the following Python code?
from math import +

floor(3.7)
| (A) 3 B 4 (C) 3.0 G (D) None of thege

8. Folifes Fe e 3T3TYT FT G 2
def fun(a, b=6).: -
=a+b
print(a)
fun(s, 4) .
@ 11 o |
What is the output of the following code ?
def fun(a, b=6): '
a=a+b
print(a)
fun(5,'4) |
ATt B 9 SR (© 31 T D) 4
_

MB3-R5/52/08-22
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o :‘Zim“ BYS BT IYT U QA7
AUumpy as np
"P.array((1,2,3,5.8)
= "Paarray((0;1,5,4,2)

What is the output of the following code ?
import numpy as np. ;
a = np.array(([1,2,3])

print(a.shape)

SAMPARK COMPUTERS
Udyan Plaza, Near Saheed Path
Raibareli Road, Uterathia
Lucknow-226025
www.samparkcomputers.com

thag Mob. 9839077664/ 9839077664
C= Q‘a .
print (0[2]) -
A) 6 '
Wi (B) 24 € o . (O) T B 7
o the output of the following code"
Port NUumpy as np
= P.array([1,2,3.5 8])
= MP.array([0,1,5 4,2])
C=a4+p. 16
C= C a i J)?
print (c[2];@ _ ~
(A) 6 ' R #
- (_B) | 24 | ; € o ‘ ,(D)/ None of these
8. IS ¥ afedi o gy o v FEATMEI
A wuRm g o o WM. (0 e
‘The process of fmdmg errors in code is called as | : |
(A)  Compiling ~ (B) * Running (C)  Testing \(D)/Seb.ugging
87. Fufafa Bis o1 sreqe w2
: import numpy-as np |
a = np.array([[1,2,3]])-
print(a.shape) ,
(A (23 B @1 (© (153,

T P T

A 23 (B).

6n [©

;(Df/lﬂone of these

 Page 25/22
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-y m%meﬁuﬁmaﬁ/ngl

(A) Wty @) RGN R
The process of drawing a flowchart for an algorithm i called
(A) Performance

. (B) Aigorithmic Representation

(C) Evaluation - Joy” Floweharting

ARt

89, PR 3 sgeqe s g »
print((range(4)))

(A) 0,123 (B) 10,123 (C) range(0,4) (D) (0,1,23)
What will be the output of the following?
print((range(4))) /

(A) 0,123 J}(B) [0,1,2,3]» ~ (C) range(0,4) (D) (0,1,2,3)

= i e o A Al i
P i

90. >>>2'+'3 HT AIeYC T2

- (A) 23 (B) ‘243 (C) 23 - (D) THIDE T
H What is the output of ‘>>>'2'+'3’ :
it 2+3 23 | of these
it (A) 23 (B) 2+43 1(© 23 » (p) None of thes

L 91.  seek()is: file_object.seek(offset [, reference _point]) o1 Ricad 3

RUgE R o n S |

. (A)  Reference_point ®T5d 3iisoide P! garar R &) SR s @
(B) * reference_point BT Hissiae &) Eﬂ'{f‘iﬁ RifdH MaF=ars
(C)  reference_point WId sfissiee &t wHIfy fRufd ) 2fitg Fwan &
(D) ORI H A IS &

The syntax of seek() is: file_object.seek(offset [, reference _point])
What does the reference_point indicate?

(A) reference _boint indicates the current position of the file object
(B) reference_point indicates the starting position of the file object

oint indicates the ending position of the file object

@éone of the above

Page 26/22 M3-R5/S2/08-22
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92 % T R e e v A e 2 S A Y, o v

(A Filg Fouid Ervor 8) File Not Exist Error
©) F '

" Not Found Error O FHITE
If we o

OPen 5 file in write mode and file d0€S Not exists, which of the error wil generate ?
A

/(A) Filg Foundl Etror (B)  File Not Exist Error
C -
(C) File Not Found Error (D) None of these ‘
93. NumPYﬁm'w}%,,

(A Ty g . (B) ARTU™Y
©) T e O) FR TR
NUMPY stangs for? |
A) Numbering_; Python (B)  Number in Python
(C)  Numericg Python - (D)  Number for Python

4. ISR 1 a1 ageg A 2 'SAMPARK COMPUTERS

- ; - Udyan Plaza, Near Saheed Path
= set('dema) Raibareli Road, Uterathia
b = setlmine: : Lucknow-226025
(m _PC) ~ www.samparkcomputers.com
print(a’) : ‘Mob. 9839077664/ 9839077664
A) {'d', 'C., 'ml, |a|’ 'm', 'I'A, |p|’ |C|} (B) {lml, ||v, |p|, vcu}
© fde,'myay D) PR

What is the output of the following code ?

a = set('dcma)

: b=sgt('mlpc')
~ print(a’b) | |
(A) {d,'c,'m,'a,'m,T,'p,c} (B) {m'T,p, c}
© (di'e,m,a) - (D) None
Page 27/22 ' _
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98, FPafdifaw yne a

WS w1 argeqe g 2

del printMax(a, b):
tasb:

print(a, ‘is maximum)

elifa==b:
print(a, 'is equal to, b) SAMPARK COMPUTERS
Udyan Plaza, Near Saheed Path
else: . Raibareli Road, Uterathia
- Lucknow-226025
print(b, 'is maxi ' www.samparkcomputers.com
( AnUm,) Mob. 9839077664/ 9839077664
printMax(3, 4)
(A) 3 . ‘ (B) 4

(C) 4is maximum (D) mﬁ IBRTT
What will be the output of the following Python code 7 3
def printMax(a, b):
ifa>b:
print(a, 'is maximum')
elif a==b:
pfint(a, 'is equal to‘,'b)
else: |

print(b, ‘is ma*imum')k

~ printMax(3, 4) - A
A -3 it L,‘f‘/“ :

(C) 4ismaximum , (D) None of the m'enti'(})}ﬁéd‘l»
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"®. Array(([[11, 12, 13, 14}, (32, 33, 34 35))
p”nt(y Ndim)

(A
b3 (B) 2 (C) 3 (D) 0

hat 'S the output of the following code ?

PO numpy as np

Y= MD.array(11, 12, 13, 14), (32, 3, 34, 35]))

Print(y .Ndim)
4 B) 2 W AF(CM 3 O o
T T TR S S SRR gmmd
(A) 99 bayq i (@B frao |
© ffuRmw 0 () T« EiRes
An algorithm that calls itself directly or indirectly is called as
(A)  Sub Function. M Recursion
(C)  Reverse Polish Notation (D) .Traversal Algorithm'
o SAMPARK COMPUTERS
98, ﬁ?ﬁf@ﬁﬁmwm? | - Udyan Plaza, Near Saheed Path

Raibareli Road, Uterathia

- Lucknow-226025 ,
www.samparkcomputers.com

a = np.array([[1,2,3.4], [5,6,7,8], [9 10,11 12]]) Mob. 9.839077664/ 9839077664

print(a[2,2])

import numpy as np

A 7 ® 11| . @© 10 D) 8
- What will be the output of the following ? | '

import numpyasnp

a= np.array([[1,2,3,4], [5,6,7,8], [9,10,11 ,12]) -

print(a[2,2])

W ® 1 © 10 4{) 8
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Qg hT \ ,ﬁﬁﬂ a'
R Wy rape LA
it Ty ey onfite #¥ 0)
(A) U gl
®) @ o nd line ?
How - from the comma
OW many Arguments a Python program can 80099'""0 . n
} ; . (A) ohe Three (D) any
B AB) Two © "
100, famp | ¥ & o A
R Y v s R e e a5 :
D) Tty
A oz ® () TEnfEn | (D) TR
The way for solving a problem step by step ig known as
(A)  Design (8) Planning (C) Algorithm (D) Execution
-000-
" SAMPARK COMPUTERS
Udyan Plaza, Near Saheed Path
Raibareli Road, Uterathia
Lucknow-226025
www.samparkcomputers.com
Mob. 9839077664/ 9839077664
.
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